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i) General Awarencss

. Tha name of the cyclone which hil

Vishakhapatnam on Sunday tho
12 Oct, 2014 is

(&) Gudbud
(C} Budbud

(8) Hudhud
(D) Mudgad

Kallash Sathyarthi, who has been
salected for Nobal Peace Prize 2014,
is tha founder of

(&) Bachpan Bachao Andolan

(B) Mahila Bachao Andolan

(C} Balika Bachao Andclan

(D) Gram Swacchata Andolan
The hilly 1owns of Kullu and Manal
arg located in

(A)  Jammu and Kashmie

(B} UttagPradesh

(C) Meghalay

(D} Himachal Pradash

Who won gold medal at the 477
Asian Games in the men's hockey

final 7

[AY  India

(B) Pakistan

(C) Bangladesh

(D) Nong of these

Prime Minister Narendra Modl on
2- m@m lgunched __,afive

year initiative, reclaiming Mahatma
Gandm 5 vision of a clean India.

{.ﬂ:} ‘Shrest Bharat Andolan
B} Swacchata Andolan
(C) Swaceh Bharat Abhiyan
(D) None of these

-nlr'

8.

11.

12.

13.

Which ane of the following is the ore
of ren ?
(A) Haematila (B) Bauxite
(G Magnelite (D) Smaltite
Indian Constitution came to force on,
(A) 15-8-t94¥ (B) 15:8:1950
(e} 26-1-1947 (D) 26-1-1950
The river that doesnol originate in
Western (3hats is \
(A} Kaver (8] Vaigai
(C) Barak (D) Godavarn
Who is the Gavernar of Kamataka 7
{A} @ Vidyasagar Rao

P Eﬂﬁhﬂshwam
{G *-KEIE'EEII'I Singh

~ (D) Yajubhai Rudabhai Vala

10y Who was the founder of Mogul

Dynasty 7

(A Akbar (B} Babar
{C} Humayun (D) Birbal
Who wrote Cias Capilal 7

(&) MK Gandhi (B) Stalin

(C} Plato (D) Kari Man
The cheapest means of ransport s
(&) Water ways

(B) Rail ways

{C]  Air ways

(D} Moneof these

Days and nights are causad by the
- e of the earth.

(&) Size (B} Rotation
{C) Temperature (D} Bad peopla
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141,

15

1E.

H

18,

o5

{C) Sahara
%

Postal index (Pin coda) was infroduced
i Indlia in
Ay 1870

_ B 1669
(C) 1872 '

(3} 1875

Almuspheric pressura is measured by
{A)  Ssismometer (B} Ammeler
() Galvanomeler (D7 Barometer

Exchange of goods wilhout the use
of money is called

(&) Barer syslam

(B} Banking system

() Utility system

(L) Mare of these

I'ha largest desen of tho world is
(&) Thar By Kalahari
(O} Kharan

— founded the phikbsophy
called Vishistadwaiia,

(A)  Madbwacharya

(B} Ramanu@charya

(C} Shankaracharya

i} Mittalacharya

- emple was built by
Haja Raja Chala.

(A} S Krishna

(B} Nadhorai Meanakshi

(C) Brihadeeshwar

(D) Balaji

Where was the Mohammead the
Prophet borp 7

()
(B)
(C)
(D)

Mocca
I"."1t'1|;_|ir|a
Bhagdad
Doulathabad

2.

24,

Pt

2

27

I

O

Ligfl yearis a unit of measurement of
(&1 Irtensite ot ight

(B}  Temperalure

(G Waight

0]  Distanca

Which planet locks reddish in the
night sk 7
A Jupiter
{C1 Mars

(B)" Satum
B Mercury

Which sportg g Leander Paes
associated with 2
(%) Footbal

(G} Badminton

{Bi Hockey
(B} Tennis

Wiho wrote the ling "4 thing of beauty
is A joy for ever 7

Ay P8, Shelly

(Bl Rabimiranath Tagore

(51 Jonn Keats '

D] Aristotie

The pravious name of Myanmar was
(4] Bangla

18] Buma

(C] Matay

(0 Mone of these

Barack Obama is

{A;  Prime Minister of U.S.A.
{8y Govemcroftl5A.

(Cy  Frosident of LLS.A.

(Y Gecretary of State of LS A,

Tai Mahal was built by
(A} Mumtaj Mahal
(B} Aurangajeb
Hurmayun

Shah Jahan

[T}

(B}

o
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28, Which of the tollowing is a hardware
and not & software 7
(A) Excel
(B Printer drivor
(Cy  Operating system
D) GPU

28 Mary Kom 15 associated with
(A}~ Wrestling {B) Boxing
() Sguash (D} Badminton

30, Ramayana is an epic written by
(AY VWyasa (B)  Vishwarmitra
(G Walmiki (D) Vasishta

31, Teachors day is observed on
(A} Noverber 14 (B) October2
1G] August 15 (D) Septambers

32, Jayalalitha, gJormer C.M. of Tamil
Madu, who has besn convicted

recetly in the disproporionato assets

case is the lsader of party.
(A) DMK (B] AIADRIK
(C) AIDMEK (D) ADMK

33. Who is the host of the episodes of
Kaun Banena Maha Crarepathi 7
(&)  Ameer Khan
(B] Shah Bukk Khan
(C) Amitab Bachehan
(o Hnngaij:fr.ﬂ_[_eﬂé

34, Which of the lollawing is niot & typa of
chegue 2
(8} Crogsed chegue
(BY Blank cheque
(G} Bearer chegue
(D} Speed cheque

35,

40.

8
.
OO SO

HE1-s-taﬁ't_3‘_5._1'_t_ir

{A)  Reserve Bank of India

{B) Regional Bank of India

(C} Hestrictad Bank of India

{0)  Reprosentative Bank of India

Whers is Bandipur Naticnal Park %
{A) Andra Pradesh

{B) Kamataks

{C) Assam

[0 Orissa

The site of Harappa-'himatﬁd on the
banks of the rver
i) Saraswati
(C) Boas

{B) Indus
(D) Ravi

- Who among the following has written

the famous book *‘Malgudi Days" 2
(A} HAabindranath Tagore
(B) Vijay Tendulkar

WC) RK Marayan

(D) Deepak Chopra

Minister for Home &ffairs in our Union
Government js

(A1 Arun Jailley

(B] Rajnath Singh

(C) Sushma Swaraj

(B}  Ananth Kumar

Hanuman's leap lowards Lanka
marks the beginning of Sundara
Kanda of

(A} The Ramayana

{!._3} The Mahabharatha

(G} The Bhagavatha

(D Mono of these
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ii) General Intelligence and Reasoning Ability

41, Avinash is Ravi's eldest brother, Raui
s yourkger o Ajay. Raviand Ajay are
net brothers. Which af the following
stalements is dafiniicly true 7
(A} Alay is younger to Avinash

_{B} Avinash is youngerto Ajay
(L3 Ajay is youngar to Havi
{1 Baviis younger o Avinash
Directions (fis. 42 — 46) - Choose the one

which dass not belong 1 the group to which
other threa beleng.

4z, (A) Leaf
(B) Raoot
(C) Sand
o] FIEwe:

43 (A) Swdat
By Site
() Sour
D) Bittar

44, {A) Anxious
(B) lgnecus
() Sedimentary
(D) Metaromphis

45, (A 28
(B) 12
)23
By 16

46, {A) Gaeorge Bush
(B) Bill Clinten
() Marendra Mod
(D1 Barack Obama

Directions (0s. 47 = 50): f A =35, B =6,

G =7, D = B and g0 on, what do the following
numbers stand for ?
AT 2PDEBIPE
(&1 PRIYA

iC) MEEMA

8. B22 192718
{A) BROWN
(B1 WHITE
({C] GREEN
(0] BLAGK

[B) MEEMA
(D) RUDRA

4, 1F19 o008
() MOPED
(B)  RLANE
{€] MOTOR
D) TRAIN
50, 22514518
(A] RAJAT (3
G BAJAN (D)
Directions ((s. 51 and 52) | Choose the

correct allernative in each case which
subsiitutes tha question mark (7).

BADAL
BIMAL

51, Adult;Baby:: Flowsr: 7
Ay Seed
(8} Bud
Gy Frui
(D) Buttartly

R Good:Bad: Virtue: 7
(A} Blame (B]
(C)  Despair

Sad

M Vics
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53,  Inacerain code 256" Means Uy Ol AT
gnod", 637 maans "we are bad" and
58 means "good and bad”. Which
of the Tollowing represents 'and’ In

that code 7
(&) 2 (8 &
) 8 (D)

Girections (Qs. 54 — 58)  Letters of cenain
words have been rearranged and the
jurrbled spellings have been given Celow.
Ot of the chaices given below each question
shoose the last loiter of the correct wotd,
54, VISERL
(N E
By L
ey
D) §
55, CAPCET
Ay C (B T
[y A o P

ER. AYDOT '
(A) A ®w T
) D o v
s ERMSECH
Ay 3
(B) |
) E
o) "
SE ILCEQP
A E
B 0
(G B
L

R e

5y How many 8's are there in the
fellowing series of nurmbers which ara
precedad by 7 bul not immediately
foliowead by 87

5705RLTETETRE04ETTEEETE3
(A One (B] Two
() Thres (D) Four

B0. Ina cerain code MONUMENT is
writtan as ONFTODFS. Haw is

BEAR writian in that code 2
iy ADBO {B) DGCT
{C] CDCS (D) DDCOo

g1, Poinling to.a lady in the photograph,
!_:r:rﬁ&éf;:: said, “Her mothar's.
husband's daughtar's brother is my
brothiar How is the |lady ralated to
Cinesh 7
JAy Mother
(B} Sister
(C) Daughler
(B Grandmolher

Directions {Qs. 62 — 65) - Find the missing
varm of the sequence given below.

i =y

!

&2, ¥
15"

g
41

[a
i B )

1
97

Lol

sy

1193 B

e
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63,

BY.

A

. 4,8,

1,87 15,21 =
{A) 27
(B) 29
s
iy 33

16,25, 36, —
(AY
(B)
(C) 48
(D) 64

R E K, 0 -

(A) 405
(8) 305
(c) 995
D) 455

Ajay works more than Ram. Aok
works as much as Raju, Pankajworks
less than Alok. Rar warks morehan
Aok, WWha works the most af ll 7

(A} Ajay

(B} Ram

(C)  Alok

() Haju

Charithra went 10 the movies nina
days ago. She goas to the movies
ﬂﬂf'ﬁ."ﬁﬂ Thursday. What deay of the
weel is today T

(A Sunday

(B} Tuseaday

(C) Thursday

(D) Saturday

T2

T A

A father talls hiz son, ‘| was of your
present age when you were bom®. If
father Is 36 now, how old is the oy
now 7

Ay 1h

(B) 18

{C) 1

;17

Bune s bigger thar Jhansi. Sitapur
is bigger than Chittor, Raigarh is not

_as big as Jhansiy but bigger than

Sitapur. Which is the smaliast ?
(A} Jhansi
(B] Pune
(C) Chitior
(O] Sitapur

G&EE:EHAG::EEAH;?
(A) RAEB
(B) REAB
IC) AEBR
(D) BARE

BANK : CBOL ' : MORE : 7
(A) EROM
(B} NPSF
(C) PSFN
D) ROME

Raju travels 100 m to the North, then
from there 100 m lo the West, then
from (here 200 m ta the South. Inwhal
diraction is he now from his starting
paint 7

(A) South

(B) South East

(G} Wesl

(D) South West




b o

JOD-37/LDC/X-14

74,

T4,

gidet

TE,

I E’ r:, B, E, F, &, Hare sitting.in a
cirele faging the cantre not necessarily

i this ordet. A is facing ©C who is rdght.

inthe middle of E and B. D is sitling
lothe left of A, His fghtin the middie
of Gand E Fistacing H, Whois sitfing
tothe rig_ht of AT

(A G

B F

)

B E

Il. P denotes "=, O denotgs %', R
denotes 'Y and 5 denotes -, than
1BQ12P4REEE=7

(A BE

(B 53

{C) 57

o) %7

How many 7's are thete: indthe
following sequence of numbers which
are preceded by 3 and immediately
followed by 872

54798327654 3TIREEITIE

(Al Gne

(B) Twao

G} Three

{) Fnurr;

in Ihe Tollowing four pairs, threa pairs
Ravs g comman relationship and one
pair iz different. Select the one which
is differont.

(Al Schaool — Teacher

(B} Fisld — Fanmer

21 Templs — Sirast

(P} Gourt - Lawyer

wfif=

s

78,

?-Q:r

.

1B

TR RR A
ifin a ceram code 'nel limsin’ means |
"how are you', 'be net sin' means
"whers are vou” whal is the code Tar
‘whara! 7
(A1)
E
il
(L)

sin
tim
el
Eal e

Find the ward which cannet be mads
from e Iattqrﬁ*-pf‘iﬁ%__gﬁit;n word |
ATMOSPHERE

Ay HEMOTE

(B]  MOTHER

§C]  HEART

(D). POSTAGE
WWhich number can bo placed al the
sign-of interrogation 7
2 22 40

13 % 32

11 i 7

AT 17

(B) 13

Lo

Dy 15

Which setal numbers is like the gven
o

(45, 24, 12)

(Al (88,22, 11)
{4, 22, 100
{42, 20, 10)
{40, 20,11

[
(0
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iy Arithmetical and Numerical Ability
B, WilEe —qe, ERa =2 BE, P:{”Er=-5:_E.EJ:P¢=E':d._Pi-tj‘:H:’?
(Al D18 (A 1585 % B teiacd
(B3] .18 oy Beed B T Bl
o) e a0, Whigh of the follewing fractions is
D) MNone ot inese i o g
b more than E iy
a5 Suoeessive discounts of 10% and 20% 1
ia puuivalent to a single aissaurt el P 1= & i
By 96% (B 30% AL B o
{E‘] {55 (D} 2B6% .85 15
: (& =3 ©F 25
#3,  Asguargofany mheroannot arad with
(A 3 (B 4 91, 9 pasons can piolgh a field in 25
{C} B (o B days. In how imary days will 15
: SR =P persons be able to camplets the joh ?
84. Ona r:;act map, 1om epesents 19km, [ Ay 1 8] 20
So, 1 cmon fhie map represents (G e (D) 15
(A) 25km (B1 18km gz: AlraEn covers A distance af 80 ki at
iG] 1825 km (D) .25 km a spieed of 40 kmih for the first a0l km
i Ao _ & snd na remaining distance Al a
85 Tha producl of twa c_:c-lnget:ut:i_gf_a ENEN et of 20 kmih, Find the average
nurbers i 288, Find the rjumb_a 5. spend of the frain on the jnufnay.
':gl :g E‘“‘; 13; :-'{?; ;5’} _3’5'3 123 (wy A0 ki (B) 32 kmih
T o Cipil ) 35 kmih D} 28 kmim
& An amount doubles iself in B years
at simple intarest. Al the same rate i 4s 085085~ 048 <018,
will menoms thrae times I oy, B D.A5-0 1_5'_—'_' -
(8) 1Byears (B 24 years : SHS
(C) 42 yaars (D) 18 years i L (B) B3
ey 1.0 By &7
@ i g L
T adls £ Slle 7 od, \Whatis the vaiue of 22 7
(AY 4 (B) 2 (A 2 (B} 1
oy B Yy 8 & 4 1
AR, The radius of & whesl is 7 om. How i ) 2
many revolutions will it make In : oo W
traveling 4.4 maters ? Ob. BTG = a0
[Ay 1000 (B 100 (A} 5500 (B) 550
ey 10 o) 44 (CYy 176 (DY 1760
A 18-

—_ e
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8> 7

96, ?—' E:!
(A A0 By 400
{C) 8ol D)y 60
{728+

g -_E.E-b-f 02 =5
(A) 120 {By- 1.20
() 12 o) 0.1z

a8, After reducing he price of an anicle

100,

107

A=

by 30%, its sala increases by 0%,
What is the eflect on the ravenue
roceipts of the shop ?

(A} 10% Increase

(B)  10% decrease

{C)  18% increase

(DY 16% decrease

After John gave As. 12 ta Harl and
Hari gave Rs. 4 to John from their inital
amaunts, both had equal amounts left
with them. Who had the smaller
amount initially and by how mueh 7
(%) Harl by Bs. 18

(B) John by Rs. 4

(C) Hari by Ra. 12

(% John by Rs. 8

How many 2 digit even numbers can
be made fromthe digits 2, 3, 4,57

(A) B By 7
) & D) &
- 3 B £
Fmd’chEH.G.F.cﬂ-?. s

2 £
() 21 (B} 1

1 5
B 3 B A

102,

103,

104,

106,

106,

107

T

08 w1 22 =2
(&) 3484 (B] 5.136
G} 4732 (B} 3.173
|f median of 5, 9, 11,2 —3, 25, 27. 32
i519.%=12
(A 21

(G 20

(8) .22
(D} 18
For As. 3,000 what is the difference
botwean campaund interest and
simple intores! at e rate of 10% fof
2 years ?
(A) s 60 (B} Bs. 50
(G)  Rs.40 (D) A=, 30
By selling an article for Bs, 24, ama
losss as much percent as its cost
price. Find ils cost price.
(#) Rs.300rRAs.35
{B) Fs. 30 or Rs. 45
() Rs.40or Rs. 60
(D) Wone of these

A parson deposits a sum of As. 150
svary month in a Racuming Daposit’
Account. At the end of 6 years, ha
recaivas an amount of Rs. 15,000
Find the fotal interest recefved by him.

(A] Rs.4.000 (B) Rs. 4,20
(G} Rs. 4,500 (D) Rs. 3,80

Rernove the brackets and simplify
T - { Za-a-b }'--Eh
(&) Bab

(B} 2a-+46b

(Cy ha+2b

[ Ga+20



e 1

Lra
i

o

et

) =

JOD-37/L DC/X-14

1 D&,

|,

110,

:

112,

o
(55 = aos, x—2
e

(A 4 (Bl 3

() & By 1

Wite 5° = 125 in the form of loganthm
(&) log.125 =3

(B} loggs =125

(€ logyigs =5

E] logn 125 = 0.5

A bag containg 6 rad and 4 blue balls.
What is the probability that 2 ball drawn
at random fram this bag is red 7

)

| &

{E

4

aing |

(G} (D}

B

The length ofthe diagonal of a square
5 B2 om. Find its area.

{A) BEsgom ﬁE} 40 50.Crm
(G} 20 sg.cm, (D]

The radius of the base of a eylindricsl

wvasselis 14 om. lils height i 10 cm

find thevolume of this oylinder,
1a) B0 c.e fEI] G100 c.o.
(G} B180w.E, (D) 8250 ..

A marrwalks 20 m 1o the South and
from thara 40 m Lo the East and from
there 50 miothae Morth, How faris ko
riow from his starting point 7

(&) 50m (By 40m
{€} 50 m (D) 45m

24 80.0m.

114.

115.

116.

17,

118.

118,

120.

0O A A

Ay owins 580 sharas. The face val e
of sach share is A=, 25. Tha company
declares a dividend of 5%, Caloulate
the dividend that Ajay will gel.

{A) Rs.1.:200 (B} Bs. 1,260
Gy Hs 1.300 (L} Rs. 1,360

Tiwar invested Hs. 25 D-fl{l in 1854
Re. 100 shares guoted al ipmn‘uum
of 20%, Calculate the number of
shares Dought by Tiwari,

(A} 200 Bl 2gz
(G} 250 Ty 24z

If the-migan ol 6,4, 7, a, 10is 8, find
thevalire of ‘4. '

(A 12 (B} 10

G 13 O} 11

The sum of all the firsl sixy natural
numbars is

(A] 1830 (B}
€] 1500 (L)

B0
1600

A wirg s in the form of a circle of
radius 42 cm. Itz bentinto asquare.
Determine the side of the souare,

(A) B0cm (B) ©8cm
(GY  FOam (E} 45 cm

A train of 250 m length s running at a
spaedof B0 knvh. How much timea doss
It fakes o pass an cloctic pole Ereclet:
by the side of the railway track &

(&) 20 se0, (B) 25 sen,
(C) 30 ses. (o) 15 sac,

Tha lengths of the diagonals of a
rhombus are & ¢em and 30 cm
respectively. Datarming the area af
this rhombus,

(&) 20sg.cm.
() 80sg.om:

(B) 40 socm
(D) 30 s0.0n
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iv) Test of Language . Hindi
. sy T ;
o 121 — 125 ¢ T B e g | ¥ 126-130: 1] T e T I
e 126. (A) IR
121, i (B} IR
(A} (C) FTEIR
By T (D) FAEE
(il Sssll 127, (&) T
(D) SATEH (B) T
122, N o) TEEEE
Sl 128, (A) ST
(C) Eﬁ”ﬁ (B) w
(D) BT 4 (0
125, Wi Gilnliahe
(A) BT 129, (A W
(B) =4 (B] HEETH
(C} e (C) SR
(D) A (D) SEE
124, GiEw 150, {A) TATET
(A) EETT (B} THEH
| g {C) e
{C) e i
Dy TREL . 131 135 F1 o) R el T TR
T T |
(&) AT 131, TR
B} ST (A TEEH
(C) HEEH ) e
(Cy ==l
Dy @WEE ;
(B S (D} TTERE
A 24




0

132, 1
{A) =
(B}
(C) =
(D) =

133, a7
(A) 39T
(B) =T
(G} 3
{D} =1

-

134, T
(A AT
(B) Ta=n
(C) Haw
(D} T

135, UHd
(A} =FEE
(B) WA
(C] HrEE
(D) TH

9.136 il 137 : 54l smRey 413 A B

136, (A} S = T o
(B) = TR T srma T
(C) T8 T = e
(D} FEH 1 = W R

137, (&) 0 3 TR ve
(B} 1 e
(©) i B e
(D} ¥ R TR

f3a,

138.

JOD-37/LDCK-14
SRS
(A) i
(B) W
C) wH
(DY 58 o

"B omT i e - e a2
(&) T OE T SRR

(B) = uw et s s

(C} BT 0 % T 2

(D) =10 S Fer s e

3. 140 = 142 A= B s o R

140,

o

(EEaut

(&) Tl
() Emah
(C) R
(D) T

Ein i

(A} TTHIRER
(B) T
(€ mihe
(D) sl

142, T=8

{A) =9
(B} T
(Cp =t
D) T
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7,143 3% 144 . T Burd ypEii ey veat

143,

144,

(A) s
(B) T
(C) 3
(Y =

{A}- Wil
(By T
() Timesfy
D) e

9. 145 31 146 - 3w 8 9 Fifaw |

145.

146.

147,

A*

S Wil i e aE wEE
(A) =

(B) TE= ¥

() ot
(o) el

e B vaw 98 EE
Y |

(&) 4

(B) 9w

(C) R

(D) W

i A AR e T E - e =
A 27

(A)  FTET AR

(B) ReRTTeTeh e #1

() vifam e

(D) T

148,

149,

150.

151.

162

0 A s
e o) e T )
(A} A
(B) ITIRTEHR
(C) T
(D) &

et o FYRTE S
(A) HS

(B} AT =S

(C) i

(D) =T

Bl 313 el R e 3
(A) e
(B) frer
(C) =
(O AT

dleh weAm FEHL G e 9T |
TR AN |

(A} T
{B) TR
(C) g
(o)

e T R 9w e el |
(A o
(B) T
()
(D) =




RO AR A
153, Tam TR Eme s e k|
(A] T
s EEL
(G A
(D B

7 154 - 157 : feiaieriad e ) TE 4
Foril oy ] o F et (T, |

SRS P o T T AT O R P
S v T ST ] TRITE e SR B T
o 195 1 R R ] | e A 1 TRT
T | e e e T E w
et =) AT AT i aE e | R
3 =l ST S AT B geE T g
o T R e e S T -] A
o ) e w3 R R TR H

et |

! 1T

154 s pm g g el Tl e 2
(A EETEE A
(B) R T
(G e
(D) T AL

vn T S R e B e
A R T AT T
(A EIHE o T
(B T I T R O
(C) Hehic A el B
(D) =0 i

15,

1a7-

158,

160.
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i = el 1 7
(B i F A e I
(B oA TR
() Fte T e H e e
(o) = Il A HEmEmy il

e T o TR e 8
() TR

(B) Al

(C)

(D

Tl TR e T T e
(A]  EERIEE

g =0

(G S

(D) F

s A e T |
(A) TR RN E
(B} T A
(G) A R
O} TR

=T ] S I
(A) ST
(B) S
(C} TR
B
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v} Test of Language : English

Eirgqtipns_.{t]g._‘lﬂ — 165) : For cach kay Di_mr;tim;rs. (Qs. 166 —170) : For each key
word are given four suggested meanings. word ara given lour suggested meanings.
Choose the word which s mast nearly tha Choese the word which is apposite in
-same to the key ward. maaﬁing ot ey wiord,
161, Hoist 166 Ugly
(A} elevate (Al repelient
(B lower (B)  uncormely
(G} host iG] atfractive
(D) degrade _{U]__ clever
162 Bonus 167. Tarrible
{83 temor (A hid@ous:
(B} reward (8] devout
©) bony fﬁﬁ&; snfortunate
(D) punishmert (B} delightful
163. Hadian 1GE. "TE.h'ni,r.TEl'[E
(A)  mistear I8 begin
B dull (B} erase
(S} beaming tﬂ}_ atolish
OF dim (D} restrain
164, Interpret 168, Celastial
(A hide (A) heavenly (B} sarthly
(B explain (14 im_E.l:gir‘nar}r- (0} sealed
4] R 170, Idantical
R (A) similar
165, Gradual {B} congruent
(A) slow {B) quick (L unlike
{C) fast (DY sudden (D} inseparable
A 28




0 RO

Directions {Qs. 171 — 175) : Pick out the
maost affective word from the given words to
fill In the blank to make the sentence
meaningfully complels,

171

17E:

173,

174.

The unicn leader was very crilical
the attitude of the

managemenl,
Al for
(B} at
{1 on
() of

Sincethere was no evidencs to prove
him h2 was acquilted.

(&) innocent
(B) _guil!ly
(CY ‘bhonest
(D} offence

|-congratlated Mamitha _ her
SUnCass in he examination.

(A on
B by
(©) in
(O with

Before getling elected, he was
to the welfare of the people.

(A devoted
(B -attended
{G) neglectad
(I¥  opposaed

175,

JOD-37L.DCX-14

schaol
garly to receive har parents at the
railway station.

Yesterday Geetha

(A wenl
(B) enlered
(G} left

(B} delayed

Diractions [Gs. 176 — 180) : Aead sach
sentenceto find outwhetherthers is any emror
init, the arrorif any will be in one part of he
sentence. The number of that par (&) or (B)
o {C) is the answaer. If there is no errar the
answer is (O},

178,

T

178:

T7E

184,

Kamalesh asked the dealer (A) fwhal
was the price of thal bicycle and (B)Y
whether it is really made in
Germany, (G No error ()

| am trying o fimish (A) fthis fetter for
thelast one hour (B) /I wish youwould
ge away or stop disturbing me. (G}
Mo-arror (1)

He fixed a metal ladder for tha wall (&)
Bedow his window s0 a5 to be able 1o
(B} fescape fthers was a fira, (G} No
errar {LF)

Meither her brother (A) nor her
husband were able (B) 1o help in har
work, () /Mo ermor (D)

The bays (A)/retumed back home (B)/
alter a tiring day, (G} Mo errar {D)

=
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Directions (Qs. 181

alta

181.

182,

183,

()
(D) oversigned

185.
[

B)
©
(D}

Belonning to the same tima,

iatives choose

A Communication lransmitted fram
ONE Person or group ta another
1A} meteor

{B) message
Y kool
{ny apticn

One wha denias the axistence of God.
A Cardiologist
(B}  Prestigeoys
(G} Atheist
(0 rmniprasant

Line who ean not read g Writa,
va)
{B}
1E} rredevant
(DY Biind

iterate
ifrresponsibla

The person ar Farsons who have
signed at the battorm ol a documient,

(A} above signed
(B) unsigned
undersigned

Al Regent
Current
Modem
Cn:-ntampc-rarj.r

= 185} : Out of the four
the ane which san bie
substiluted tor the given wordsisantence.

A

Birections (Qs, 185 — ‘JEE} Read the
following Passage carafully &nﬂ basadan it,
dnswer the questions that fﬂi[::;w

It was in tha avenings that Hiffer wcflca L.
He hated gaing bed; for ha found it difficul
to sleep and aftar dinner o il gather his
guesls round the big ﬂrepiaéar and Lajfl; o
every subject undar the sy unhl t{m:n ar three
Delock in the: mBing,
would not rise unijl éFé':?'

‘ale va
little:, and neither smoked nu‘i' '« rank.. HG'LI'-CEJ:H
A vegetanan cook, {:tut ﬂ JﬂFﬁg that sating
meat or cooked meala y -1 baa:-l habit tha
had led ta-tha dlegay ol past clilization. He
never talched e

2Eems io haw.hagﬁ Tk al:r::uut Fis health,

Ha ook fittle EH‘E}E‘IS,E ﬂ,rrif! had: & harror of
catchinig a cold o orany torm of infaction He
was deprossed at#‘rﬁthﬂ“ﬁﬁ“@#ﬁ;ﬂﬁg early,

before he had time. tatomplete iis schamos

P

ard hoped to add ye-aﬁ‘m"i’lﬁr{& by caretul
dicting.

186, Hitler hated

(A} eating fifle
1B) talking on every, subjoct undar the
SLin
(€ guing o bed
() none of these
187 After dinner Hitler would
(A)  drink tea
(B) drink coffes
(C] smoke
{0 talk to his Quesls on avery subject




SO R

158,

188,

190

1893

Hitiat g ually o0 o ldle bacause

{A) He was always tited after hevdng
tatiead 20 moch the night before

(8] Heused to consima intoxicaled

drinks

smoking made him sleap mone

Mone of thizeg

{C)
(=

Hitiar was worried about hig hedlth
trecalse

tA)  His doctor said be did nat lake
Brsrzise

Hewas afraid that death woulhd be
padrful

He wias
pramaturaly

)

() afraid  of dying

(R He used looat leo much

Hitler infendad 1o nrrq YERAITS 10 his lifg
()
=
()
B}

by drinking coffes

oy D00 more and mores exersice
by sroking day and right

oy careful dieting

Choose the word which is niot speit
COFrecy,

[
(C} providure

almosphsre  (B) rectangilar

Ly knowledgs

Flural of 'rotherin-lae s
(A
(B)
el
(o)

brothar-in-laus
brolhors-jn-law
brothers-in-laws
none of these

Feminineg gender of horee s
=5
Ay

(A hi::-r_sen
1) hers

horsgs
mars

154,

125

198,

197,

2010,

-3

RN
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Past participfe of 'ging' g
(Al sang (B) sting
S smging (D} sang
IFast terse ot 'buytiss L
[A) Broaghl fBJ L|u-‘.l.-|r|.q__;
(2) bol (D Brough
'Drives i
(A) Proper naln

(B} Collective noun
(&) Comrmon naun
2 Material noun

“This i & big projest,
[t the above santence. the part of
speech of big is
(A nouk
(2] werk

(B)  adjective
{0Y  adverh

"Whe is he. 7

The abiove sentoncs =

A an assertive sentence
[B)  aff exclamatons sentence
18)an nlerrogative senence
an imperative senfonos

‘Ha is writing a lattar

I'he above sentence in the passive
voice will be

(A A letter was wirillen By Firm

[B) A leller has bean written by him
() A letler is written try Bim

(L} Alelter is being writtan by him

“ie have bean writing”,

The tensa of the verb |n the abovs
senlenca js

(&)  Presont perfaat coilifuags

B} Presenl perfect

(G Pastporfest

{01 Fresent continyous
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IMPORTANT INSTRUCTIONS TO CANDIDATES

FeiEAT o Ty gl STTam

This bookler contams 32 gages:

P kAl the pages of the Boaokdet
cenlr i Khag

Bazg of any detent. please ask
ihe Imvigilator for repi-lammunl'uir the Booket.
Directions | Each question of incomplets
statement iz Iollowed by four aliernaiive
ELGnesicd answens gy l::':HTr;_;-Iaﬁ-:msl. Ineach
case, yol are required o select the ona thal
correclly answers the nusstion or complatos
the statement and blacken 48 appropriates
circla A, B, Cor D by BlussBlack Ball-Point Pon
agalnsl the guestion canzarned in the
Answar-Shest. (For V.H. candidales
corresponding circle will be blackenod
by the scribe) '

Maik your srswes by shacding 9 aporopnata

cirder agairst ssch auesion, The Ghiche shouk]
b shadad copiatedrmitnaut lsaving any space.
[P corrast roathod of t:hamr-g |r= avern balow.

e | el mr.:-u_!l.'-.m_a Nt | et oo |

i RuRwy el ieted ol dede) el Jeuie)

'1'+.1_9 Candidate mAg! mak hisfeor rosgonsa
aftes-carefd! consideration.

. Thera g only ang correct angwar Lo each

guestian. ¥You should blacken (@) the circle
of the appragriate aolumn, viz., A, 8, Cor D
If you biackan (@) maras then one cincle
against Ay one question, e answer will ke
treated as wrono, [ you wish Lo cancat any
answer, you should eornplsisly erase thal back
mark i the. cirslein the Answer-Shiest. and
hen slzcken the cinde of rovised Tesponsa.

oA macshing will read the noded information

i the ORA Answer-Sheal. In casa the
irfeimakon is incomipletediferant fom the
irformation givea in the application form, the
candidators of Burh candidate will e treatad
as canaeied,

Li2o the spacs Ter reugh work given i the

Cuestion Buaklet oaly and not on the
Answer-shect

- Youare NOT required to mark your answers

in this Booklet, All answers muost be

Indicated in the Answer-Sheet only.

B

1

13,

14

15

T¥:

wﬁmﬂﬂ%ﬁﬁ |

34 ﬁﬁﬁwﬁmﬁmﬁmﬁﬁﬂﬁﬂﬂ? i
T i, T ki ) s mme o e e |
oy - Hﬁﬁmﬂmﬂmmfﬂmmzﬁm
T S | e S SRR R | ek
3 pn) o] mom = g o kT
%mmﬂi‘f@ﬁhﬂr ] AL T

T i, @E AL B, meﬁlrﬂ-ﬂrm
1 b e e 3| e G T -I-.liHT 1;5]. =8|

(sfezafim Fufinnit & T wmr
i s = famam @)
TR S SR S e o) S A
Fuld It | o o o = e o SRl
P =t 37 T e i o it |

flﬁr'lﬂﬂr ‘IE‘fﬂ"r'fH:'. e | a1 e
|G'E'D:J Q?ﬁﬂf_}' e EaR ey Sele)

sparsiieR: a1l S sl s s e
Fafigin s |

WHIH T T e T RAR 3R | i

sl =i HeR A, B, © 47 13 allian
TS AR | af s e e S
AT T E A R a )
ST S 5 A e | A R A
o T W B LB R = e vl
el it e e A T B e e
T T TSR, 0 6 S s |

. L S e 5w e e e

e R T | T T e £ e
x4l EEE B B 2 A At @
sl e et s |

sFreel FTH o T, Sl e T (R R
AT | AR W S S T R

V8. T UTEHERT % S 3R IO S TR

TAA 2 | a9 S - TS |

Go through instructions given'In Page No. 1 {Fecing Page}

T

“ga
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